Name: Date:

1. Cans of tuna are on sale, 4 for $5.00. How much is one can of tuna?

2. At the carnival there are 4 big rides and 8 small rides. You have 22
tickets. The big rides cost 5 tickets and the small rides cost 3 tickets.
a. How many big rides can you go on?

i. How many tickets would you have left over?
b. How many small rides can you go on?
I.  How many tickets would you have left over?

c. If you go on 2 big rides, how many small rides can you go on
with the tickets left over?

3. Two friends go to the movies. One says he will pay for the tickets.
The other says she will pay for the snacks. The 2 tickets cost $28.00.

At the snack stand they got 3 items: a large popcorn and 2 drinks for
a total of $30.00.

a. What was the cost for each item? For him:
For her:
b. Who paid less per item?

4. Alice’s recipe needs 5 potatoes and goes to the market. Potatoes are
on sale: 3 for $6, but you have to buy 3 to get the sale price. One
potato is regularly priced at $3.25. Is it a better value to buy 5
potatoes or 6 potatoes?

a. 5 potatoes cost:

b. 6 potatoes cost:
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